

$$\text{If } y = e^{x^2+x}$$

show that

$$y'' = y'(2x+1) + 2y$$

$$y'' - y'(2x+1) - 2y = 0$$

$$u = y''$$

$$v = 1$$

$$u = y'(2x+1)$$

$$u = y''$$

$$v = 2x+1$$

$$u' = y^{(n)}$$

$$v' = 2$$

$$u^{(n-1)} = y^{(n)}$$

$$y^{(n)}(2x+1) + ny^{(n)} \cdot 2$$

$$u = y^{(2)}$$

$$u^{(1)} = y^{(2+2)}$$

$$u^{(n-1)} = y^{(n+1)}$$

$$u^{(n-2)} = y^{(n+2)}$$

$$y^{(n+2)}$$

$$u = 2y$$

$$v = 2$$

$$u = y^{(1)}$$

$$u^{(n)} = y^{(n)}$$

$$2y^{(n)}$$

$$y^{(n+2)} = (y^{(n+1)}(2x+1) + 2y^{(n)} + 2y^{(n)}) = 0$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + 2y^{(n)}(1+1)$$

$$y = e^{x^2+x}$$

$$y^n = a^n e^{ax}$$

$$u = y^{(n)} \quad v = x$$

$$u^n = y^{(n)} \quad v' = 1$$

$$y^{(n)} = y^{(n)} \quad v'' = 0$$

$$y' = (2x+1)e^{x^2+x}$$

$$u = 2x+1 \quad v = e^{x^2+x}$$

$$y^{(n)} \cdot x + n y^{(n)}$$

$$u' = 2 \quad v' = (2x+1)e^{x^2+x}$$

$$y'' = (2x+1)(2x+1)e^{x^2+x} + 2(e^{x^2+x})$$

$$u = y^{(n)} \quad v = 1$$

$$u^n = y^{(n)} = y^{(n)}$$

$$y' = (2x+1)y' + 2y$$

$$(ii) \quad x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$$x^2 y^{(n+2)} + 2n x y^{(n+1)} + n(n-1) y^{(n)} + x y^{(n+1)} + n y^{(n)} + y^{(n)}$$

$$u = x^2 y^{(n)}$$

$$u = y^{(n)} \quad v = x^2$$

$$x^2 y^{(n+2)} + y^{(n+2)} x(2n+1) + y^{(n)} (n(n-1) + n)$$

$$u^{(n+2)} = y^{(n+2)} \quad v' = 2x$$

$$u^{(n+1)} = y^{(n+1)} \quad v'' = 2$$

$$u^{(n-2)} = y^{(n-2)} \quad v''' = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 - n + n + 1) y^{(n)}$$

$$y^{(n+2)} x^2 + n y^{(n+1)} \cdot 2x$$

$$= x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^{(n)}$$

$$+ n(n-1) y^{(n-2)}$$

$$y'' = y'(2x+1) + 2y$$

$$y = e^{x^2+x}$$

$$y'' = 102e^{4x} + 3840e^{4x}x^2 + 3840e^{4x}x + 960e^{4x}$$

2) $y = x^3 e^{4x}$ determine $y^{(5)}$

$$u^n = 4^n e^{4x} \quad u^{n-3} = 4^{(n-3)}$$

$$u^{n-1} = 4^{(n-1)} e^{4x}$$

$$u^{n-2} = 4^{(n-2)} e^{4x}$$

$$u = e^{4x}, \quad u^{(5)} = 4^5 e^{4x}$$

$$v = x^3, \quad v' = 3x^2, \quad v'' = 6x, \quad v''' = 6, \quad v^{(4)} = 0$$

✓ Using Leibniz theorem:

$$y^{(5)} = u^{(5)} v + 5u^{(4)} v' + u^{(3)} v'' + 5u^{(2)} v''' +$$

$$y^{(n)} = u^{(n)} e^{4x} + n 4^{(n-1)} e^{4x} 3x^2 + \frac{n(n-1)}{2} 4^{(n-2)} e^{4x} 6x + \frac{n(n-1)(n-2)}{3!} 4^{(n-3)} e^{4x} 6$$

$$y^{(5)} = 4^5 e^{4x} + 5 \cdot 4^4 e^{4x} 3x^2 + \frac{5(5-1)}{2} 4^{(5-2)} e^{4x} 6x + \frac{5(5-1)(5-2)}{3!} 4^{(5-3)} e^{4x} 6$$

$$y^{(5)} = 4^5 e^{4x} + 3840 e^{4x} x^2 + 720 e^{4x} x + 960 e^{4x}$$